INS. CASE OWNER:	Wary Reter CCY, Asm 1900	8748,1	A QUEST LKK:	116296
Surveyor.	DOI: ASSIGNMENT TO ASSIGNMENT A	/\ \ (h	ite / Time :	18/19
Insured Vehicle No. Name of Insured Insured Tel No. Excess Sec II:SS	(V) WOX9P	Claim No. : Policy No. : Make / Model : Place of Accident :	SAWON	Na
Is driver the owner? If NO, Driver Nam Driver Tel N	e/Age:	OI GIA REPORT: Insured Liability :	YES/NO; TP GIA REF	PORT: YES NO Yes / No
SCN 1918 INSRS: WSP: (Now Tel:	INSRS: WSP: Tel:	INSRS: WSP: Tel:	0	SRS: SP:
Liability : NY RMKS:	Liability: RMKS:	Liability : RMKS:	1/4 -9/1	ability : MKS:
Date/Time	SCW1918 A - CUP/MAD920373/8/A -	The second second second	TAGE	DATE / PIC
	SWJ 40799. x	N N N C C	on-Reporting ltr (1st): on-Reporting ltr (2nd): on-Reporting ltr (Final): otification ltr (if non-pickup) all OI: fter call ltr to OI:	20/6/9.
2412/19 -	File ssule find by for	-	ocumentation Check List: otification ltr (if non-pickup)	The second secon
30/12/19-	File pass to MK to close.	A Re Fi Co	fter call lir to OI: uthorisation To Act: elease Voucher: nal Repair Bill: ar Rental Invoice: owing Invoice TA / GIA : fedical Bill: fan ate/Reject Instruction: OD	
ELIMINARY ADVICE	Date/Time: Sent By:	AND REAL PROPERTY AND REAL PRO	ayment Breakdown Form: ost-Repair Photos:	
NALIZATION pair Cost: NAL SETTLEMENT nal Liability:		%' E	Confirm by: Email Call FNO or B 28, Ass. Lia:	Call
pair Cost: W/M/ ss of Rental (LOR): ss of Use (LOU): ss of Income (LOI): DR only LOU only		AL MARK CON	CAN	
A/LTA Search edical: sbursement: gal Cost tal:	S\$ 7.45 S\$ - (e.g. Tow/ Independent S\$ - S\$ [3781.45] Global Sum SS: 3550 U) 2) Claim status; Normal/Re) Report Format:) Survey fee:	`
NAL PAYMENT	Date/Time: Confirm with:	E	mail Call	
yee 1: yee 2 (Strike if N.A.) yes 3: (Sml c if N.A.)	SS 3550-W Name 1; Chew Motors SS Name 2; SS Name 3;	iv the Utcl.	14,	



CHEW MOTOR PTE. LTD.

1 Kaki Bukit Avenue 6, Blk A #01-11 Autobay@Kaki Bukit Singapore 417883

Tel: 6509 5545

Fax: 6509 5567

Website: www.chewmotor.com

Registration No.: 201718369R GST Reg No.: 201718369R

CHEW KAILI Blk 1 Kaki Bukit Ave 6 # 01-43 Singapore 417883

15/05/2019

TPAXA.

xino Tong.

WBAJA120XOWCO8999

Accident date: 15/05/2019

Estimated repair cost for vehicle no: SCU1918A BMW 520i 2.0 A '18

CHASSIS: WRAIA120X0WC08999

		CHASSIS: WBAJA120X0WC08999		
S/n	Qty	Items	U/price	Amount
1	1	Rear Boot Lid Dented.		\$2,655.00
2	2	Rear Boot Lid Hinge 7 114	\$158.00	\$316.00
3	2	Rear Boot Lid Hinge Cover	\$122.00	\$244.00 +
4	2	Rear Boot Lid Side Reflector Cut	\$427.00	\$854.00
5	1	Rear Boot Lid Emblem Logo NCC		\$71.00
6	1	Rear Boot Lid Camera Danged		\$890.00 🌬
7	1	Rear Bumper Number Plate 7		\$50.00+
8	2	Rear Boot Lid Number Plate Lamp	\$55.00	\$110.00 +
9	1	Rear Boot Lid Inner Lock Dang d		\$282.00
10	1	Rear Boot Lid Inner Lock Switch > 1		\$281.00
11	1	Rear Boot Lid Inner Inner Rubber		\$197.00
12	1	Rear Boot Lid Inner Trim Board 2		\$525.00 *
13	8	Rear Boot Lid Inner Trim Board Clip	\$8.00	\$64.00
14	2	Rear Tail Lamp Crub-d	\$692.00	\$1,384.00 -
15	4	Rear Tail Lamp Clip	\$8.00	\$32.00
16	2	Rear Tail Lamp Lower Bracket ***	\$82.00	\$164.00
17	2	Rear Tail Lamp Panel	\$833.00	\$1,666.00
18	1	Rear Bumper Deland		\$2,355.00
19	10	Rear Bumper Clip HeL	\$6.50	\$65.00
20	2	Rear Bumper Side Retainer coulced	\$138.00	\$276.00 -
21	2	Rear Bumper Side Reflector Coulud	\$58.00	\$116.00
22	1	Rear Bumper Lower Moulding missing		\$284.00
23	1	Rear Bumper Towing Cover		\$60.00
24	6	Rear Bumper Reverse Sensor 2 pieces during	\$305.00	\$1,830.00
25	1	Rear Bumper Inner Top Bracket	7.0	\$225.00 ⊌
26	1	Rear Bumper Inner Center Cover Could		\$246.00
27	1	Rear Bumper Lower Bottom Cover (Small) Con(_d	\$214.00

28 ^	1	Rear Bumper Lower Bottom Cover (Big) Caule	d	\$355.00
29	1	Rear Bumper Smart Opener Sensor		\$193.00
30	1	Rear Bumper Reinforcement Bent		\$729.00
31	1	Rear End Panel Dented		\$883.00
32	1	Rear End Panel Top Garnish cracked		\$310.00
33	2	Rear Fender Repric	\$2,209.00	\$4,418.00
34	2	Rear Fender Inner Trim Board 2	\$302.00	\$604.00×
35	16	Rear Fender Inner Trim Board Clip	\$6.50	\$104.00 ×
36	1	Rear Spare Tyre Panel Top Cover		\$342.00 ~
37	1	Rear Spare Tyre Panel & End Panel Sealant	/	\$450.00
38	2	Rear Exhaust Per	\$1,874.00	\$3,748.00 *
39	4	Rear Exhaust Mounting Not New	\$73.00	\$292.00
40	2	Rear Exhaust Chrome Pipe He M	\$204.00	\$408.00 1
41	1	Rear Exhaust Center Aluminium Cover Compled	*	\$195.00
42	2	Rear Exhaust Side Aluminium Cover compres	\$212.00	\$424.00
43	1	Rear Center Exhaust		\$2,926.00 ×

Subtotal :- \$31,837.00

13132

Labour charges

To remove & refit cushion & trim board		\$380.00 80
To remove & refit rear camera		\$380.00 EO \$280.00 EO
To remove & refit reverse sensor		\$180.0060
To remove & refit rear windscreen		\$120.00 🗶
Gum not her		\$60.00 +
To remove & refit rear & center exhaust		\$380.00
To reset computer		\$280.00 150
To check wiring		\$120,00 30
Tuff kote	2800	\$200.00 80
Panel beating		\$2,000.00 / 200
Spray painting		\$2,000.00 1000
	Cubanal -	¢c 000 00

LKK Auto Consultants hence notify the Repairer of the following:

- . To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

Subtotal :- \$6,000.00

Total:- \$37,837.00

total 1527840 1/5: 12.2K.

12.21c

Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

. Owner ID Type:

Singapore NRIC

Owner ID:

4950F

Vehicle Details

Vehicle No.:

SCU1918A

Vehicle to be Exported:

No

Intended Deregistration Date:

15 May 2019

Vehicle Make:

B.M.W.

Vehicle Model:

520I LED NAV

Primary Colour: Manufacturing Year: White

Engine No.:

2017 21295176B48B20A

Chassis No.:

WBAJA120X0WC08999

Maximum Power Output:

135.0 kW (181 bhp)

Open Market Value:

\$44,852.00

Original Registration Date:

23 Feb 2018

First Registration Date:

23 Feb 2018

Transfer Count:

.

Actual ARF Paid:

V

ACTUAL ART FAIG.

\$54,793.00

Intended PARF Rebate Details

.....

PARF Eligibility:

Yes

PARF Eligibility Expiry Date:

22 Feb 2028

PARF Rebate Amount:

\$41,094.00

Intended COE Rebate Details

COE Expiry Date:

22 Feb 2028

COE Category:

B - Car above 1600cc or 97kW

(130bhp)

COE Period(Years):

10

QP Paid:

\$42,661.00

COE Rebate Amount:

\$37,414.00

Total Rebate Amount:

\$78,508.00

The information contained herein is correct as at 15 May 2019

OK

p. Sukyi T. 2.38 p. M V: In E: V



Service Request Details

Claim

S9M01NIQ

Reference

None 🔊

Loss Date

15 May 2019

Report Date

15 May 2019 1:53:34 PM

Request Date

16 May 2019

Due Date

24 May 2019

Vendor Name

LKK AUTO CONSULTANTS PTE LTD (TP)

Type of Loss

Third Party Vehicle Damage

Services

Pending verification - Direct Settlement

Actions

Next Step

Agree to perform service

Decline Work

Accept Work

Vehicle Information

Incident Vehicle Registration #

SCU1918A

LKK AUTO CONSULTANTS PTE LTD (TP) -

Menu

MUUCI

TBC

Service Address

Primary Contact/Insured

TAN POH HENG JUSTINA BLK 114 LORONG 3 GEYLANG, #02-55, 381114, Singapore

Claim Handler

WANG Peter

peter.wang@axa.com.sg

Additional Instructions

Messages

Invoices

History

Documents

Assessment

Metrics

Notes

New Message

Catherine Chong (LKK Auto)

From:

Chew Motor Pte. Ltd. <claims@chewmotor.com>

Sent:

Wednesday, 15 May, 2019 1:24 PM

To:

SG AXA Insurance SM AXA SGP - Motor Survey

Subject:

SCU1918A CLAIMING AGAINST SKJ4079P DOA:15.05.19

Attachments:

SCU1918A PRI.pdf

Categories:

Raghav

Without Prejudice

Hi Motor Claim Dept

Please send us your surveyor list, thanks.

Please take note this claim under Chew Motor Pte Ltd

Please kindly take note that we have a mutual agreement on the selection of appointed surveyor from your panel surveyor's list. We hope that there will not be any further changes to the finalised repair cost after confirmation with your appointed surveyor or at the stage of LOD.

Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.

Regards,

Sukyi Chong

Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241

F: 6741 7276

English (default) ▼

LKK AUTO CONSULTANTS PTE LTD (TP) ▼



SERVICE REQUESTS

MESSAGES

CLAIMS



TP MANDATE IA < S9M01NIQ>

Type

Q Question

Message

Dear Peter, The said chain collision involved 5 vehicles whereby TP was the first vehicle, our insured was the second vehicle and was pushed by behind. In accordance to the MCF guideline for chain collision, we have to settle the front vehicle's claim at 100%. We have send letter to OI to notify TP claim and NCD issue. Immediate Advice (with mandate) have been uploaded in SMART CLAIM. We hereby seek your approval to offer Third Party repairer M/s "Chew Motor Pte Ltd" is as follows: - 1) COR(w/gst): \$13,054.00 + 2) Loss of Use (8 days x \$100.00): \$800.00 + 3) LTA search: 7.45 = Total: \$13,861.45. **7 days recommendation for repair. **All the relevant documents had been uploaded in SMART CLAIM. For your approval please. PohKin- LKK- 30/08/2019

of 1



51 UBI AVE 1, #02-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL.; (065) 62563561 FAX; (065) 62564315

Immediate Advice

To: AXA Insurance Pte Ltd

Date:

30/8/2019

Survey Details:

Date of loss	15-May-19	
Date of appointment	16-May-19	
Date of survey	16-May-19	
Location of survey	CHEW MOTOR PTE LTD	

Vehicle Details:

Claim Type:	THIRD PARTY CLAIM	
Vehicle number	SCU1918A	
Make and Model	B.M.W. 520I LED NAV	
Date of registration	23-Feb-18	
Parf Rebate		
Market Value	\$	180,000.00
Parf Rebate	\$	78,508.00
Nett Loss	\$	101,492.00

Repair details:

Initial Estimate	\$ 37,837.00

Proposed/Revised repair cost:

Lump Sum(if applicable)	\$ 12,200.00	after -20%
Total	\$ 15,275.40	
Labour	\$ 2,800.00	/
Check items (estimate)	\$ -	
Parts	\$ 12,475.40	list price - 5

11318-80	((m 10%)
14618.8	3

Number of days for repair 7



51 UBI AVE 1, #02-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL : (065) 62563561 FAX : (065) 62564315

Remarks:

The said chain collision involved 5 vehicles whereby TP was the first vehicle, our insured was the second vehicle and was pushed by behind.

In accordance to the MCF guideline for chain collision, we have to settle the front vehicle's claim at 100%.

We have send letter to OI to notify TP claim and NCD issue.

Mandate:

Liability(TP)	 100%	
Proposed repair cost	\$ 13,054.00	(\$12,200.00 + 7%gst)
Loss of use	\$ 800.00	(\$100.00 x 8 days)
Loss of rental	\$ 155	
Loss of income	\$	
LTA search fees	\$ 7.45	
Others	\$	
Proposed Total	\$ 13,861.45	

Hsiao Tong (LKKAuto)

From:

Mei Kwan (LKKAuto)

Sent:

Friday, 6 September 2019 3:44 PM

To:

Hsiao Tong (LKKAuto)

Subject:

FW: New message for service request 116296, vehicle number SCU1918A

6/9/19 2:29 PM *** Pls proceed DS with below quantum *** MessageCOR: \$12513.69 (PARTS-10%: \$11818.80; Labour: \$2800; Total: \$14618.80; less 20% for lump-sum repair: \$11695.04; +GST); LOU: \$640 (\$80/day for 8 days); LTA: \$7.45. Total: \$13161.14. If TP rejects, you may offer global-sum up to \$13200 (all-in) - WANG Peter

----Original Message-----

From: peter.wang@axa.com.sg <peter.wang@axa.com.sg>

Sent: Friday, 6 September, 2019 2:35 PM

To: admin-d@lkkauto.com

Subject: New message for service request 116296, vehicle number SCU1918A

AXA Insurance has sent you a message for claim number S9M01NIQ.

Please click here https://vp.smartclaims.axa.com.sg/claim-portal/ to view the message in Vendor Portal. This message is confidential; its contents do not constitute a commitment by AXA except where provided for in a written agreement between you and AXA. Any unauthorized disclosure, use or dissemination, either whole or partial, is prohibited. If you are not the intended recipient of the message, please notify the sender immediately.





RE: Pls proceed DS with below quantum

Type

Question

Message

Hi, we have offered up to \$13,200.00(all-in). However third party rejected our offer and proposed \$13,861.45(all-in).). The breakdown of third party propose is as follows: - 1)Cost of Repair (w/GST):\$ 13,054.00 + 2.)Loss of Use (8days x \$100.00): \$800.00 + 3). LTA/GIA Search Fee: \$ 7.45 = TOTAL: \$13,861.45. Kindly let us have your further mandate / instruction. Hsiao Tong - 12 Oct 2019

Reply

Hsiao Tong (LKKAuto)

From:

Mei Kwan (LKKAuto)

Sent:

Friday, 8 November 2019 10:52 AM

To:

Hsiao Tong (LKKAuto)

Subject:

FW: New message for service request 116296, vehicle number SCU1918A

7/11/19 3:41 PM *** Pls maintain our offer on COR, and offer \$90/day LOU for 2000CC *** MessageCOR: \$12513.69 (PARTS-10% is reasonable: \$11818.80; Labour: \$2800; Total: \$14618.80; less 20% for lump-sum repair: \$11695.04; +GST); LOU: \$720 (\$90/day for amicable settlement for 8 days); LTA: \$7.45. Total: \$13241.14. - WANG Peter

----Original Message----

From: peter.wang@axa.com.sg <peter.wang@axa.com.sg>

Sent: Thursday, 7 November, 2019 3:43 PM

To: admin-d@lkkauto.com

Subject: New message for service request 116296, vehicle number SCU1918A

AXA Insurance has sent you a message for claim number S9M01NIQ.

Please click here https://vp.smartclaims.axa.com.sg/claim-portal/ to view the message in Vendor Portal. This message is confidential; its contents do not constitute a commitment by AXA except where provided for in a written agreement between you and AXA. Any unauthorized disclosure, use or dissemination, either whole or partial, is prohibited. If you are not the intended recipient of the message, please notify the sender immediately.

Menu



RE: Pls maintain our offer on COR, and offer \$90/day LOU for 2000CC

Type

Q Question

Message

Hi, Third party repairer mentioned that their client vehicle is new car which is only 1 year 2 months, third party had carried out repair under Lump Sum basis instead of Part by Part. Third party would like to counter proposed settlement at \$13,567.45(all-in). The breakdown is as follows: - 1)Cost of Repair (w/GST):\$ 12,840.00 + 2.)Loss of Use (8days x \$90.00): \$720.00 + 3). LTA/GIA Search Fee: \$ 7.45 = TOTAL: \$13,567.45. Kindly let us have your further mandate / instruction. Hsiao Tong - 02 Dec 2019

Reply

Menu



Pls proceed DS with settlement up to \$13567.45

Type

Question

Message

Reply

Assignment

and to defer demanding for payment of the cost of repair, I/we the undersigned do hereby irrevocably assign absolutely to you all the proceeds of my/our claim(s) including damages, interest, costs and expenses (including legal costs / disbursements payable on a party and party basis which are to be paid to the parties so entitled including solicitors, vehicle appraisers and other experts /

In consideration for your agreement to repair my motor vehicle registration no.

(Workshop)

Chew Motor Pte. Ltd.

consultants).

I/We further confir	m that p	ayment to you on	y or to any p	erson authorised by	you to receive
payment shall cons	titute a g	good and effectual	discharge of t	he obligations by a	ny party of the
aforesaid proceeds	of my/our	claim(s).			
I/We authorise you	expressly	to give notice of th	nis assignment	to the party concerns	ed.
I/We confirm that b	v this ass	ignment. I/we shal	not be entitled	I in law to receive at	ny payment. If a
				ler as I/we am/are	
		we shall return sai	ne to the sen	ici as i we ain are	precided from
accepting any paym	ent.				
Dated this _	15	day of	05	2019	
		10.10	7		
Signature	:	Centra			
Name	:	_ Chew k	aili_		
ID No.	13	5833	4950F		
Address	:				
		//			
Witness Signature	:	_//	7 /2	HENZ	
Witness Name	*	Chew Yue Yin	0.) 3)	
Witness ID	¢.	S8826618H		3190	
Witness Address	:	1 Kaki Bukit Ave			
		Singapore 417883			

SCHOLDE

Hsiao Tong (LKKAuto)

From: Sent: To: Cc: Subject:	Chew Motor Pte. Ltd. <claims@chewmotor.com> Friday, 27 December 2019 1:09 PM Hsiao Tong (LKKAuto) Admin A Re: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 *** LKK REF: CC4/ASM19008748/Apa3</claims@chewmotor.com>
Without Prejudice	
Hi Hsiao Tong	
Thanks for your offer.	
Please kindly expedite to send us	s the discharge voucher of \$13,550 for close case, thanks.
*** Please kindly take note, this	claim is under "Chew Motor Pte Ltd" ***
Please kindly take note that (CHEW MOTOR PTE LTD is GST-registered.
Regards,	
Sukyi Chong	
Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883	
T: 6747 9241 F: 6741 7276	
On Fri, Dec 27, 2019 at 12:38 PM	Hsiao Tong (LKKAuto) < <u>chewht@lkkauto.com</u> > wrote:
Without Prejudice	
(save as to costs)	
Dear Sirs/Mdm,	
We refer to your below email.	

Our principal had further reviewed the matter and we have instruction to revise offer at a global sum of \$13,550.00(all-in).
Please confirm acceptance.
"Please note that our proposal and correspondence with you is strictly on a without prejudice basis and should not be construed as an admission of liability on our part and/or that of our policyholder and/or the authorised driver. The terms of our without prejudice
engagement should not be disclosed in any other related matter(s) in respect of this accident nor should it be binding in any other related claims."
"Best Wishes for Merry Christmas, and Happy New Year 2020"
Best Regards,
Hsiao Tong, Chew (Ms) Case Handler
LKK Auto Consultants Pte Ltd
Phone: 6742-3197 email: <u>chewht@lkkauto.com</u> fax: 6741-4108
Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 S(408933)
From: Chew Motor Pte. Ltd. < <u>claims@chewmotor.com</u> >
Sent: Wednesday, 18 December 2019 10:33 AM To: Hsiao Tong (LKKAuto) < chewht@lkkauto.com >
Cc: Admin A <admin-a@lkkauto.com> Subject: Re: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 *** LKK REF: CC4/ASM19008748/Apa3</admin-a@lkkauto.com>
Without Prejudice
Hi Hsiao Tong
Contents noted with thanks.
Please expedite as new year (2020) around the corner and we hope to close as soon as can, thanks.

Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.
Regards,
Sukyi Chong
Chew Motor Pte Ltd (GST Registration No.: 201718369R)
1 Kaki Bukit Ave 6
Blk A #01-11 Autobay
Singapore 417883
T: 6747 9241
F: 6741 7276
On Wed, Dec 18, 2019 at 10:14 AM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wrote:
Without Prejudice
Dear Sirs/Mdm,
We are still pending for further mandate/instruction from our principal.
We will get back to you once we receive instruction.
Thank you.

"Kindly note that this negotiation between parties on this matter is purely on a without prejudice basis with the sole intention of resolving the matter amicably without parties resorting to legal proceedings. No admission of liability, whatsoever, should be deemed / inferred from this negotiation of terms/settlement.

In the event of new evidence being discovered or subsequently produced by either party that will materially affect/influence on the issues of liability/damages, either party is not bound, thereafter, by the negotiation terms/settlement."

"Best Wishes for Merry Christmas, and Happy New Year 2020"

Best Regards,

Hsiao Tong, Chew (Ms) | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6742-3197 | email: chewht@lkkauto.com | fax: 6741-4108

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Chew Motor Pte. Ltd. <claims@chewmotor.com>

Sent: Wednesday, 18 December 2019 9:46 AM
To: Hsiao Tong (LKKAuto) < chewht@lkkauto.com >

Cc: Admin A <admin-a@lkkauto.com>

Subject: Re: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 *** LKK REF: CC4/ASM19008748/Apa3

Without Prejudice - gentle reminder

Hi Hsiao Tong

Thanks for your email offer dd16.11.19

Our client vehicle is new car which is only 1 year 2 months, we repair as Lump Sum instead of Part by Part.

Enclosed before paint photo for your reference.

For amicable settlement, we are willing to deduct \$200 for cost of repair finalize from AXA appointed surveyor which is your good office.

Below break down of our revised cost of repair :-

Cost of Repair

:\$ 12,840.00 (\$ 12,200 - \$ 200 + 7% gst)

Loss of Use

:\$ 720.00 (\$90 x 8 days)

LTA Search

:\$ 7.45

We really hope that you can reconsider our revised cost of repair and revert for close case, thanks.

Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.

Regards,

Sukyi Chong

Chew Motor Pte Ltd

(GST Registration No.: 201718369R)

1 Kaki Bukit Ave 6

Blk A #01-11 Autobay

Singapore 417883

T: 6747 9241

F: 6741 7276

On Wed, Dec 4, 2019 at 2:31 PM Chew Motor Pte. Ltd. <claims@chewmotor.com > wrote:

Without Prejudice - gentle reminder

Hi Hsiao Tong

Thanks for your email offer dd16.11.19

Our client vehicle is new car which is only 1 year 2 months, we repair as Lump Sum instead of Part by Part.

Enclosed before paint photo for your reference.

For amicable settlement, we are willing to deduct \$200 for cost of repair finalize from AXA appointed surveyor which is your good office.

Below break down of our revised cost of repair :-

Cost of Repair : \$ 12,840.00 (\$ 12,200 - \$ 200 + 7% gst)

Loss of Use : \$ 720.00 (\$ 90 x 8 days)

LTA Search : \$ 7.45

We really hope that you can reconsider our revised cost of repair and revert for close case, thanks.

Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.

Regards,

Sukyi Chong

Chew Motor Pte Ltd (GST Registration No.: 201718369R)
1 Kaki Bukit Ave 6
Blk A #01-11 Autobay
Singapore 417883
T : 6747 9241
F : 6741 7276
On Wed, Nov 20, 2019 at 12:33 PM Chew Motor Pte. Ltd. < <u>claims@chewmotor.com</u> > wrote:
Without Prejudice
Hi Hsiao Tong
Thanks for your email offer dd16.11.19
Our client vehicle is new car which is only 1 year 2 months, we repair as Lump Sum instead of Part by Part.
Enclosed before paint photo for your reference.
For amicable settlement, we are willing to deduct \$200 for cost of repair finalize from AXA appointed surveyor
which is your good office.
Below break down of our revised cost of repair :-
Cost of Repair : \$ 12,840.00 (\$ 12,200 - \$ 200 + 7% gst)

Loss of Use

:\$ 720.00 (\$90 x 8 days)

LTA Search

: \$

7.45

We really hope that you can reconsider our revised cost of repair and revert for close case, thanks.

Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.

Regards,

Sukyi Chong

Chew Motor Pte Ltd

(GST Registration No.: 201718369R)

1 Kaki Bukit Ave 6

Blk A #01-11 Autobay

Singapore 417883

T: 6747 9241

F: 6741 7276

On Sat, Nov 16, 2019 at 12:23 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com> wrote:

Without Prejudice

(save as to costs)

Dear Sirs/Mdm,

Thank you for your patience.

We have our principal instruction to offer as follows: -

Total	\$ 13,192.95		
3. LTA/GIA Search Fee	\$ 7.45		
2. Loss of Use (8days x \$90.00)	\$ 720.00		
1. Cost of Repair (w/GST)	\$ 12,465.50 (\$11,650.00 + 7%GST)		

Please confirm acceptance.

"Please note that our proposal and correspondence with you is strictly on a without prejudice basis and should not be construed as an admission of liability on our part and/or that of our policyholder and/or the authorised driver. The terms of our without prejudice engagement should not be disclosed in any other related matter(s) in respect of this accident nor should it be binding in any other related claims."

Best Regards,

Hsiao Tong, Chew (Ms) | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6742-3197 | email: chewht@lkkauto.com | fax: 6741-4108

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Chew Motor Pte. Ltd. <claims@chewmotor.com>

Sent: Wednesday, 6 November 2019 1:58 PM
To: Hsiao Tong (LKKAuto) < chewht@lkkauto.com>

Cc: Admin A <admin-a@lkkauto.com>

Subject: Re: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 *** LKK REF: CC4/ASM19008748/Apa3

Without Prejudice - gentle reminder

Hi Hsiao Tong
Refer our email dd 30.09.19, please kindly advise your offer and revert for close case,thanks.
Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.
Regards,
Sukyi Chong
Chew Motor Pte Ltd (GST Registration No.: 201718369R)
1 Kaki Bukit Ave 6
Blk A #01-11 Autobay
Singapore 417883
T: 6747 9241
F: 6741 7276
On Word Oct 23, 2019 at 12:04 BM Chau Mater Pto Ltd. coloins Only
On Wed, Oct 23, 2019 at 12:04 PM Chew Motor Pte. Ltd. < <u>claims@chewmotor.com</u> > wrote: Without Prejudice
Hi Hsiao Tong
Refer our email dd 30.09.19, please kindly advise your offer and revert for close case, thanks.
Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.

Regards,
Sukyi Chong
Chew Motor Pte Ltd (GST Registration No.: 201718369R)
1 Kaki Bukit Ave 6
Blk A #01-11 Autobay
Singapore 417883
T : 6747 9241
F : 6741 7276
On Mon, Sep 30, 2019 at 10:00 AM Chew Motor Pte. Ltd. < <u>claims@chewmotor.com</u> > wrote
Without Prejudice
Without Prejudice
Without Prejudice Hi Hsiao Tong
Hi Hsiao Tong
Hi Hsiao Tong
Hi Hsiao Tong Thanks for your offer.
Hi Hsiao Tong Thanks for your offer.
Hi Hsiao Tong Thanks for your offer. We would like to counter propose as per below:- Cost of repair : \$ 13,054.00 (\$12,200 + 7% gst)
Hi Hsiao Tong Thanks for your offer. We would like to counter propose as per below:-

*Please kindly consider our appeal and revert for close case, thanks. *Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.* Regards, Sukyi Chong *Chew Motor Pte Ltd (IGST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com> wro Without Prejudice Dear Sirs/Mdm, We have our principal instruction to offer at a global sum of \$13,200.00(all-in).		24
Please kindly take note that CHEW MOTOR PTE LTD is GST-registered. Regards, Sukyi Chong Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	01 g	Total : \$ 13,861.45
Regards, Sukyi Chong Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	100	Please kindly consider our appeal and revert for close case, thanks.
Regards, Sukyi Chong Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,		
Regards, Sukyi Chong Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,		
Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	à	*Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.*
Chew Motor Pte Ltd (GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	F	Regards,
(GST Registration No.: 201718369R) 1 Kaki Bukit Ave 6 Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	5	Sukyi Chong
Blk A #01-11 Autobay Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,		
Singapore 417883 T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	1	Kaki Bukit Ave 6
T: 6747 9241 F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	E	Slk A #01-11 Autobay
F: 6741 7276 On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com > wro Without Prejudice Dear Sirs/Mdm,	S	Singapore 417883
On Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < chewht@lkkauto.com wro Without Prejudice Dear Sirs/Mdm,	Т	: 6747 9241
Without Prejudice Dear Sirs/Mdm,	F	: 6741 7276
Without Prejudice Dear Sirs/Mdm,		
Dear Sirs/Mdm,	0	n Sat, Sep 28, 2019 at 1:36 PM Hsiao Tong (LKKAuto) < <u>chewht@lkkauto.com</u> > wro
	,	Without Prejudice
We have our principal instruction to offer at a global sum of \$12,200,000 Hz.	1	Dear Sirs/Mdm,
We have full Difficing incirigation to ottor at a diabatic see at 012 200 AA/ 1133		Ma haya aya principal instruction to off and the last section of the section of t

Please confirm acceptance.

"Please note that our proposal and correspondence with you is strictly on a without prejudice basis and should not be construed as an admission of liability on our part and/or that of our policyholder and/or the authorised driver. The terms of our without prejudice engagement should not be disclosed in any other related matter(s) in respect of this accident nor should it be binding in any other related claims."

Best Regards,

Hsiao Tong, Chew | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6742-3197 | email: chewht@lkkauto.com | fax: 6741-4108

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Hsiao Tong (LKKAuto)

Sent: Monday, 9 September 2019 8:07 AM

To: Chew Motor Pte. Ltd. <claims@chewmotor.com>

Cc: Admin A <admin-a@lkkauto.com>

Subject: RE: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 *** LKK REF:

CC4/ASM19008748/Apa3

Without Prejudice

Dear Sirs/Mdm,

We refer to your below email.

We have our principal instruction to offer as follows: -

	\$ 13,112.95
3. LTA/GIA Search Fee	\$ 7.45
2. Loss of Use (8days x \$80.00)	\$ 640.00
1. Cost of Repair** (w/GST)	\$ 12,465.50 (\$11,650.00 + 7%GST)

**For CO	R, list items less 10%.
Please co	nfirm acceptance.
as an admis prejudice e	e that our proposal and correspondence with you is strictly on a without prejudice basis and should not be consion of liability on our part and/or that of our policyholder and/or the authorised driver. The terms of our wing agement should not be disclosed in any other related matter(s) in respect of this accident nor should it be by related claims."
Best Regar	ds,
Hsiao To	ng, Chew Case Handler
LKK Auto	Consultants Pte Ltd
Phone: 674	2-3197 email: <u>chewht@lkkauto.com</u> fax: 6741-4108
Blk 51, Pay	a Ubi Industrial Park, Ubi Avenue 1, #02-25 S(408933)
To: Chew Cc: Admir Subject: F	rsday, 5 September 2019 8:53 AM Motor Pte. Ltd. < <u>claims@chewmotor.com</u> > A < <u>admin-a@lkkauto.com</u> >; Mei Kwan (LKKAuto) < <u>Meikwan@lkkauto.com</u> > RE: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 *** LKK REF: 19008748/Apa3
Without F	Prejudice
ні,	
We are po	ending for mandate from AXA.
We will g	
	et back to you once we receive instruction.
Thanks.	et back to you once we receive instruction.

"Kindly note that this negotiation between parties on this matter is purely on a without prejudice basis with the sole intention of resolving the matter amicably without parties resorting to legal proceedings. No admission of liability, whatsoever, should be deemed / inferred from this negotiation of terms/settlement.

In the event of new evidence being discovered or subsequently produced by either party that will materially affect/influence on the issues of liability/damages, either party is not bound, thereafter, by the negotiation terms/settlement."

Best Regards,

Hsiao Tong, Chew | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6742-3197 | email: chewht@lkkauto.com | fax: 6741-4108

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Chew Motor Pte. Ltd. <claims@chewmotor.com>

Sent: Wednesday, 4 September 2019 9:22 AM

To: Hsiao Tong (LKKAuto) < chewht@lkkauto.com>

Cc: Admin A <admin-a@lkkauto.com>; Mei Kwan (LKKAuto) <<u>Meikwan@lkkauto.com</u>> Subject: Re: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 *** LKK REF:

CC4/ASM19008748/Apa3

Without Prejudice - gentle reminder

Hi Hsiao Tong

Please advice your offer and revert for close case, thanks.

Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.

Regards	
Sukyi Ch	ong
	otor Pte Ltd ation No.: 201718369R)
1 Kaki Bul	
Blk A #01	-11 Autobay
Singapore	417883
T : 6747 9	241
F : 6741 7	276
	Aug 21, 2019 at 9:53 AM Chew Motor Pte. Ltd. < <u>claims@chewmotor.com</u> > wro
Without I	Prejudice
Hi Hsiao 1	Tong
Please ad	lvice your offer and revert for close case,thanks.
Please I	kindly take note that CHEW MOTOR PTE LTD is GST-registered.
Regards,	KG
Sukyi Ch	iong
	tor Pte Ltd
	ation No.: 201718369R)
1 Kaki Bul	KIL AVE D

Blk A #01-11 Autobay

T : 6747 9241	
F : 6741 7276	
On Fri, Jul 26, 2019 at 2:01 PM Mei Kw	an (LKKAuto) < <u>Meikwan@lkkauto.com</u> > wrot
'WITHOUT PREJUDICE'	
SAVE AS TO COSTS	
Dear Sir / Madam,	
Thank you for your email.	
Please note that: -	
LKK ref	Officer in charge
LKK ref CC4/ASM19008748/Apa3	Officer in charge Hsiao Tong - 6742 3197
CC4/ASM19008748/Apa3	Hsiao Tong - 6742 3197
CC4/ASM19008748/Apa3	Hsiao Tong - 6742 3197
CC4/ASM19008748/Apa3 Our respective case handler will loc	Hsiao Tong - 6742 3197 ok into the matter and get back to you in du
CC4/ASM19008748/Apa3 Our respective case handler will loc	Hsiao Tong - 6742 3197 ok into the matter and get back to you in du
CC4/ASM19008748/Apa3 Our respective case handler will located the case handler will be case handler will	Hsiao Tong - 6742 3197 ok into the matter and get back to you in du
CC4/ASM19008748/Apa3 Our respective case handler will loc To check availability of the case has Thank you.	Hsiao Tong - 6742 3197 ok into the matter and get back to you in du
CC4/ASM19008748/Apa3 Our respective case handler will loc To check availability of the case has Thank you. Best Regards,	Hsiao Tong - 6742 3197 ok into the matter and get back to you in du
CC4/ASM19008748/Apa3 Our respective case handler will loc To check availability of the case has Thank you. Best Regards, Mei Kwan Admin	
CC4/ASM19008748/Apa3 Our respective case handler will loc To check availability of the case has Thank you. Best Regards,	Hsiao Tong - 6742 3197 ok into the matter and get back to you in du

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933) From: Chew Motor Pte. Ltd. <claims@chewmotor.com> Sent: Friday, 26 July, 2019 1:55 PM To: Admin A <admin-a@lkkauto.com> Subject: SCU1918A CLAIMING AGAINST SKJ4079P DOA: 15.05.19 Without Prejudice Hi Motor Claims Department, Enclosed LOD and supporting documents for your reference. We will hand over to Surveyor Adrian bring back the original to your. Please kindly advise officer in charge and hope to receive offer soon. Thank you. *Please kindly take note that CHEW MOTOR PTE LTD is GST-registered.*

Regards,

Sukyi Chong

Chew Motor Pte Ltd (GST Registration No.: 201718369R)

1 Kaki Bukit Ave 6

Blk A #01-11 Autobay

Singapore 417883

T: 6747 9241

F: 6741 7276



CHEW MOTOR PTE. LTD.

1 Kaki Bukit Avenue 6, Blk A #01-11 Autobay@Kaki Bukit Singapore 417883

Tel: 6509 5545

Fax: 6509 5567

Website: www.chewmotor.com

Registration No.: 201718369R GST Reg No.: 201718369R

TAX INVOICE

AXA Insurance Pte Ltd

8 Shenton Way,

#B1-01,

Singapore 068811

Client:

CHEW KAILI

Invoice No :

CPI1907-0109

Date :

26-Jul-19

Date of Accident : 15-May-19

Vehicle No. :

SCU1918A

Model Type :

BMW 520

Descriptions			Amount
Lump Sum Repair Cost			12,200.00
	GST 7%	:	854.00
	Total	:	13,054.00

(SGD) Dollars:

THIRTEEN THOUSAND AND FIFTY - FOUR ONLY



Our Ref

: CM1907-0109 / SCU1918A

Your Ref

: SKJ4079P

Date

: 26th July 2017



Axa Insurance Singapore Pte Ltd

CHEW MOTOR PTE LTD

8 Shenton Way #B1-01 Singapore 068811 WITHOUT PREJUDICE

Dear Sirs.

RE: Accident Involving SCU1918A & SKJ4079P ON 15.05.2019 Along KPE(MCE) 4.9KM At 09:15 HRS

We are instructed by **CHEW KAILI** to claim damages and losses against you in connection with the above-captioned road traffic accident which our client's vehicle **SCU1918A** was damaged by vehicle **SKJ4079P** driven by your insured at the material time.

We are instructed that the said accident was caused by your insured's negligent driving and/or management of the vehicle. As a result of the accident, our client's vehicle was damaged and our client has been put to loss and expense, particulars of which are as follows: -

1)	Repair Costs (Included 7% GST)	\$ 13,054.00
2)	Loss of Use for 8 days (7 days + 1 weekend)	\$ 960.00
3)	LTA Fee	\$ 7.45
		\$ 14,021.45

A copy each of the following supporting documents is enclosed: -

- 1) Tax Invoice
- LTA Receipt Receipt
- Letter of Authorisation

Please let us have your cheque for the sum of \$ 14,021.45 made payable to us, CHEW MOTOR PTE LTD in the next 14 days

Yours faithfully,

CHEW MOTOR PTE LTD



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

		Affiliated to Federation Interr	nationale Des Experts En Auton	nobile
AXA	INSURANCE PT	E LTD	Ref : CC4/ASM1900	8748/Apa3s2
AXA	HENTON WAY #24 A TOWERSINGAP 'N: PETER WANG	ORE 068811	Date: 07-01-2020 Code: ASM	
1.		Policy Particula	ars :- THIRD PARTY CLA	M
	Insured Veh.	SKJ 4079P	Veh. Inspected	SCU 1918A
	Policy No.	VPA/P1357752	Coverage (\$)	0.00
	Claim No.	S9M01NIQ	Excess (\$)	0.00
	Assign From	PETER WANG	Assign Date	16/05/2019
2.		Vehicle Pa	articulars & Condition	
	Make & Model	B.M.W. 520I	c.c	1998
	Engine No.	HIDDEN	Year of Reg.	2018
	Chassis No.	WBAJA120X0WC08999	Colour	WHITE
	Odometer	13648	Steering	IN ORDER
	Brakes	IN ORDER	Modification	SPORTS RIM
	General	GOOD		
3.		Con	ditions of Tyres	
		Size	Make	Balance
	R/H Front Tyre	245/45 R18	HANKOOK	6 mm
	L/H Front Tyre	245/45 R18	HANKOOK	6 mm
	R/H Rear Tyre	245/45 R18	HANKOOK	6 mm
	L/H Rear Tyre	245/45 R18	HANKOOK	6 mm
4.			ption of Damages	KEEP CASE OF LAND
	THE VEHICLE SU	STAINED DAMAGES AT THE I	REAR PORTION.	
	DAMAGES SEE D	ETAILS.		
5.		Gene	eral Information	
	Accident Date	15/05/2019	Inspection Date	16/05/2019
	Survey held at	CHEW MOTOR PTE LTD		
		BLK 1 KAKI BUKIT AVE 6 #01-41 AUTOBAY @ KAKI BI SINGAPORE 417883	JKIT	
5a.			Remarks	
	A)THE INSPECTION	ON WAS CONDUCTED ON A"V CE TO YOUR INSTRUCTIONS,	VITHOUT PREJUDICE" BASI WE HAVE NOT AUTHORISE	S. ED REPAIRS.
5b.		Committee of the Commit	te Days of Repair	
	ESTIMATED NOR	MAL PERIOD FOR REPAIR:	7 Working Days	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SCU 1918A

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR BOOT LID (CONSISTENT)	DENTED	2,655.00	2,455.00
2	REAR BOOT LID HINGE @ \$158.00 (CONSISTENT)	NOT NECESSARY	316.00	3.
2	REAR BOOT LID HINGE COVER @ \$122.00 (CONSISTENT)	NOT NECESSARY	244.00	7.
2	REAR BOOT LID SIDE REFLECTOR @ \$427.00 (CONSISTENT)	CUT	854.00	854.00
1	REAR BOOT LID EMBLEM LOGO (CONSISTENT)	NECESSARY	71.00	71.00
1	REAR BOOT LID CAMERA (CONSISTENT)	DAMAGED	890.00	890.00
1	REAR BUMPER NUMBER PLATE (CONSISTENT)	NOT NECESSARY	50.00	5-
2	REAR BOOT LID NUMBER PLATE LAMP @ \$55.00 (CONSISTENT)	NOT NECESSARY	110.00	35
1	REAR BOOT LID INNER LOCK (CONSISTENT)	DAMAGED	282.00	282.00
1	REAR BOOT LID INNER LOCK SWITCH (CONSISTENT)	NOT NECESSARY	281.00	
1	REAR BOOT LID INNER INNER RUBBER (CONSISTENT)	сит	197.00	197.00
1	REAR BOOT LID INNER TRIM BOARD (CONSISTENT)	NOT NECESSARY	525.00	13
8	REAR BOOT LID INNER TRIM BOARD CLIP @\$8.00 (CONSISTENT)	NOT NECESSARY	64.00	5
2	REAR TAIL LAMP @ \$692.00 (CONSISTENT)	CRACKED	1,384.00	1,384.00
4	REAR TAIL LAMP CLIP @ \$8.00 (CONSISTENT)	NECESSARY	32.00	32.00
2	REAR TAIL LAMP LOWER BRACKET @ \$82.00 (CONSISTENT)	NOT NECESSARY	164.00	12
2	REAR TAIL LAMP PANEL @ \$833.00 (CONSISTENT)	NOT NECESSARY	1,666.00	15
1	REAR BUMPER (CONSISTENT)	DEFORMED	2,355.00	1,887.00
10	REAR BUMPER CLIP @ \$6.50 (CONSISTENT)	NECESSARY	65.00	50.00
2	REAR BUMPER SIDE RETAINER @ \$138.00 (CONSISTENT)	CRACKED	276.00	276.00
2	REAR BUMPER SIDE REFLECTOR @ \$58.00 (CONSISTENT)	CRACKED	116.00	116.00
1	REAR BUMPER LOWER MOULDING (CONSISTENT)	MISSING	284.00	284.00
1	REAR BUMPER TOWING COVER (CONSISTENT)	DEFORMED	60.00	60.00
6	REAR BUMPER REVERSE SENSOR @ \$305.00 (CONSISTENT)	DAMAGED 2PCS ONLY	1,830.00	520.00
1	REAR BUMPER INNER TOP BRACKET (CONSISTENT)	CRACKED	225.00	225,00

Report Ref No. CC4/ASM19008748/Apa3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR BUMPER INNER CENTER COVER (CONSISTENT)	CRACKED	246.00	246.00
1	REAR BUMPER LOWER BOTTOM COVER (SMALL) (CONSISTENT)	CRACKED	214.00	214.00
1	REAR BUMPER LOWER BOTTOM COVER (BIG) (CONSISTENT)	CRACKED	355.00	355.00
1	REAR BUMPER SMART OPENER SENSOR (CONSISTENT)	DAMAGED	193.00	193.00
1	REAR BUMPER REINFORCEMENT (CONSISTENT)	BENT	729.00	729.00
1	REAR END PANEL (CONSISTENT)	DENTED	883.00	883.00
1	REAR END PANEL TOP GARNISH (CONSISTENT)	CRACKED	310.00	310.00
2	REAR FENDER @ \$2209.00 (CONSISTENT)	TO REPAIR SEE LABOUR	4,418.00	
2	REAR FENDER INNER TRIM BOARD @ \$302.00 (CONSISTENT)	NOT NECESSARY	604.00	67
16	REAR FENDER INNER TRIM BOARD CLIP @ \$6.50 (CONSISTENT)	NOT NECESSARY	104.00	100
1	REAR SPARE TYRE PANEL TOP COVER (CONSISTENT)	NOT NECESSARY	342.00	
1	REAR SPARE TYRE PANEL & END PANEL SEALANT (CONSISTENT)	NOT NECESSARY	450.00	
2	REAR EXHAUST @ \$1874.00 (CONSISTENT)	TO REPAIR SEE LABOUR	3,748.00	22
4	REAR EXHAUST MOUNTING @ \$73.00 (CONSISTENT)	NOT NECESSARY	292.00	
2	REAR EXHAUST CHROME PIPE @ \$204.00 (CONSISTENT)	NOT NECESSARY	408.00	<u>:</u>
1	REAR EXHAUST CENTER ALUMINIUM COVER (CONSISTENT)	CRUMPLED	195.00	195.00
2	REAR EXHAUST SIDE ALUMINIUM COVER @ \$212.00 (CONSISTENT)	CRUMPLED	424.00	424.00
1	REAR CENTER EXHAUST (CONSISTENT)	TO REPAIR SEE LABOUR	2,926.00	257
	LESS 5% DISCOUNT	Total microscopic const	-	-656.60
			31,837.00	12,475.40
	SPECIAL NETT ITEMS			
1	GUM (SN) (CONSISTENT)	NOT NECESSARY	60.00	
			60.00	19-
	LABOUR			
	TO REMOVE & REFIT CUSHION & TRIM BOARD.		380.00	80.00

Report Ref No. CC4/ASM19008748/Apa3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO REMOVE & REFIT REAR CAMERA.		280.00	80.00
	TO REMOVE & REFIT REVERSE SENSOR.		180.00	60.00
	TO REMOVE & REFIT REAR WINDSCREEN.	NOT NECESSARY	120.00	3
	TO REMOVE & REFIT REAR & CENTER EXHAUST.		380.00	120.00
	TO RESET COMPUTER.		280.00	150.00
	TO CHECK WIRING.		120.00	30.00
	TUFF KOTE.		200.00	80.00
	PANEL BEATING. INCLUSIVE OF THE REPAIR OF REAR FENDER, REAR EXHAUST AND REAR CENTER EXHAUST.		2,000.00	1,200.00
	SPRAY PAINTING.		2,000.00	1,000.00
			5,940.00	2,800.00
	GRAND TOTAL		37,837.00	15,275.40
100	RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION)			12,200.00

Report Ref No. CC4/ASM19008748/Apa3s2



ADRIAN LING WAI PING

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tord, is accepted to any third party who may reply on the Report wholly or in part, Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk,